
Входная контрольная работа 

по английскому языку 

для обучающихся  5 класса  

 

Цель работы – контроль навыков чтения по теме «Семья», контроль лексических навыков по темам 

«Одежда», «Животные, их места обитания», «Семья», «Школа», контроль грамматических навыков 

по темам «Present / Past / Future Simple», «Степени сравнения прилагательных» 

 

Содержание работы 

Часть I. Чтение 

Прочитай рассказ и выполни задание. 

 

  Yesterday afternoon John’s mother was at work. John was at home with his father. They watched TV 

together. Then his father said: “Let’s cook dinner for Mum and we can all have dinner!” And they went to 

the kitchen. The father wanted to have some soup but John didn’t like it. They decided to have fish. The 

father took the fish and they started cooking it together.  

  Then John went to his bedroom to do his homework. His father went to his room to read a book. They 

didn’t go to the kitchen again.  

  After an hour, John’s mother came home. She was tired. But when she opened the door, she ran to the 

kitchen and cried: “Oh, no!” The kitchen was very dirty. They couldn’t eat the fish because it was black! 

John’s mother wasn’t happy. John and his father were sad, too.  

  But then, John and his father cleaned the kitchen and cooked a pizza for dinner.  

 

Выбери правильный ответ в соответствии с прочитанным текстом. 

1. Yesterday John was at home … 

    a) with his mother 

    b) with his father 

    c) with his mother and father 

2. Yesterday John’s father said:  

    a) “Let’s cook dinner for Mum together”. 

    b) “Let’s do your homework together”. 

    c) “Let’s watch TV together”. 

3. At first they decided to… 

    a) cook fish for dinner. 

    b) cook soup for lunch. 

    c) cook a pizza for dinner. 

4. They started cooking fish and … 

    a) John went to his bedroom to read a book. 

    b) John went to his bedroom to watch TV. 

    c) John went to his bedroom to do his homework. 

5. John’s mother was unhappy because… 

    a) John didn’t do his homework. 

    b) the kitchen was dirty. 

    c) John and his father cooked a pizza for dinner. 

 

Часть II. Лексико-грамматический тест. 

1. Какое из слов в каждой строчке лишнее? Выпиши его.   

   a) boots, shoes, trainers, trousers                                                             

   b) ocean, river, lake, desert, sea   

  c) granny, postman, grandpa, dad, brother                                                          

   d) sheep, horse, cow, camel, whale                                                                     

   e) Maths, PE, Thursday, Reading, Russian                                                                                                                                                 

2. Выберите правильное слово. 

   1) Last year they … study English.                                                       

      a) began     b) begins     c) will begin                                                        

   2) In winter my grandmother doesn’t … her flowers every day.                        

      a) watered   b) water    c) waters                                                       

   3) He … London next summer.                                                              

      a) visits    b) visited    c) will visit 



   4) … the children play snowballs in the park yesterday?                                           

      a) Do    b) Will     c) Did                                                                 

   5) In summer the days are … than in winter.                                 

      a) long    b) longer    c) the longest                                                               

 

Правильные ответы.         

I. 1- b)   2 – a)   3 – b)     4 – c)     5– b) 

II. 1.   a) trousers    

           b) desert   

           c) postman   

           d) whale 

           e) Thursday 

III. 1) – a)  2) – b)  3) – c)  4) – c)  5) – b) 

Шкала оценивания        

 

 

 

 

Количество 

баллов 

Оценка 

14 – 15  5 

11 – 13  4 

8 – 10  3 

> 8 2 


